[image: 2016]
[bookmark: _GoBack][image: 2016.2]
image1.png
o0301%

03053RB=VEL

04015ES

040305EF

o5z

orEy

08T (F&Eil. His EEE)
0B12MENME SR, 0835HaTR
0SB, 0833EHMAUT. 0334NER

e

=Er

nERE

320

340

335

330

320

315

360

315

315

300

330

340

320

60

60

60

60

60

a5

60

50

50

50

60

55

a5

50

60

60

55

60

a0

60

50

50

50

55

55

20

%0

%0

180

200

%0

20

20

70

Ed

%0

%0

wE—

8 8 8

8

70




image2.png
RS £

ShE wE— W

0251288, 025S4EERS 340 60 60 Y Y
0351 315 60 50 85 85
SEERSE 325 55 50 Y Y
03522 T
ERSE 310 50 a0 Y Y
0452088 RESES—K (M%) %
05515 360 60 60 Y Y
BESE 340 60 60 Y Y
0ss2FESEE
ERSE 305 55 50 85 7
085218 (F&tEil. %) 315 50 50 20 20
0852115+ Bk, 085212505 TR 300 50 50 7 70
0851RFE. 08534, 09SIMEM 330 60 55 85 Y
1SITEEE 125245EE 150 a0 Y
BESE 215 70 125
125384
ERSE 170 50 100
1256TREE 160 as Y

FECEY 320 as 30 Y Y




